1. {1 pi} alfredLibrary/AUCKchapierdlesson¥econtinwons] Opel. ps
Let f be the function balow.

Note: you can click on the graph to pet a larger imape.
Dietermine the following for the function fatx= L.

Ii]?_j[x"I:_
fAly=—_
|i]}1+f[x:|=_

Iz this function continuonsatx =17

2. (1 pt) alfred Librar yAUCEFchapler4lesson ¥ quiziquestion] 1 petpg
Find the constant c that makes f continuous everywhere.

fl)= {“ ey
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—cx, x>2

c=__

3. (1 pi} alfredLibrary/AUCLchapler4Te sson3applyhospitals pg
For which of the following limits is it appropriate to use
I'Hospital's rule? Note that you have a limited number of at-
tempts.
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~ Homework 4.3 Continuity and L’Hopital’s Rule
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4. (1 pt) alfredLibrary/ AUCLchapterdlesson¥ quiz hopitals2pel pe

« A, lim

Suppose that direct substitution into a given limit yields the
im;.f:tcrmlnatc form § or 3=. Then we can apply L'Hopital’s
Tule.

Suppose that direct substitution into the result yields the inde-
terminate form § or 2=, Then we can apply L'Hopital's rule
again, and 5o on..

That is, we can continus to a%plj,.' L'Hopital's rule as long as the
resulting limit has the form § or 2=, so be sure to check the
limit each tme you apply the rule!

Compute the limit below. You will need to apply L'Hopital's
rule twice.

=T 3dT
Im S es =IHm
= lim
XNk

(Be sure that you understand why you need to use L'Hopital's
Tule two times for this limit, and why you cannot use it a third
tima!)

5. (1 pt) alfredLibrary/ AUCLchapter4lesson¥1hopitaks 1 lpetpr

Use L'Hopital's rule to evaluate each limit
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(b)lim oy = lim



